Name Class Date

Section 14-6 Notes
Conditional Probability Formulas 2

1. A Midwestern airport reported that of all thunderstorms aliecting the airport, P( se! m).:_ ys 7°
45% were categorized as severe. The probability of a thunderstorm being

severe and producing a tornado was 18%. P(Mt + Wb) =
What is the probability of a storm producing a tornado given that it is severe?

To starf, set up a fraction with the decimal form of the percent of storms that
were gevere as the denominator: 535 =

P(Torwds | septre) = (m;_r(cm i ’qut.to?oz

2. Half of your friends went to the pool, and half of them went to the lake. Of the

friends who went to the pool, 13% got sunburned. What is the conditional P(Pw‘) 5
probability that a randomly chosen friend who went to the pool got p ( | AJ“)

sunburned?

To start, wrife a fraction with the percent that went to the pool as the F LF°°‘ # burne ) =13

denominafor: — = ____ PUdlLHld. POOI X
(pumed | peol) = ’TEP;T)—J L

3. In the junior class, 80% of the students own a bike, 40% of the students own a b-kc) g
scooter, and 20% own both. What are the probabilities that a bike owner also L i

owns a scooter, and a scooter owner also owns a bi P(Bk& I SCM’l'a' P{;cwklr) = ."‘

ike)= 2% 2/ 250v 25%
p(semker|bike)= 23250 25%] T2 2 TS0 Sop(pike  semto) =2

4. The tree diagram at the right shows the percentages of people who walk or
drive to work and whether they bring lunch to work or buy lunch. What is the

combined probability that a person brings their lunch to work?
2= Pl)-Plole) |

359% Bring lunch
Walk to work
0,
5% Buy lunch
e 75% Bring lunch

0,
S0 'Buy lunch

P(Wzdks wnd Lusth ) + P(Drwes u&m)
= P(WAlk.s) P (Bring | wilks) + P[Dﬂ“‘) P (B“‘Ulm)
(s19)(-25) + [.35)(-75)

= .0525+ 63'15

Copyright © by Pearson 'rates All Rights Reserved.
’ = (49 or (1 ”]:J

F

15%

j\

P(@rougs huach)

"




Name Class Date

Practice (continued) Form K

Conditional Probability Formulas I

Of the people who went to a museum last month, 45% purchased tickets for the P(,P\ M) =.45
planetarium show, 38% purchased tickets for the 3-D movie, and 8% bought ' g
tickets for both shows. P(/? "D) =.2

5. What is the conditional probability that a person who bought a planetarium P LL(’HV\) =. of

ticket also bought a 3-D movie ticket? 8 _ =
p(30] Plarety = PCoW/p(prypet) = HE =[-1Tor 18%

6. Writing Explain the meaning of P(bought a planetarium ticket | bought a
3-D ticket). Then calculate the probability.

Those b bovghtts o 3-D tickel alse bought o planetariun Heket.

(et 3-0)- P g = 2542 217

The diagram below shows the percent of students who preferred either summer
or winter, and whether they played baseball or hockey. Use the diagram for
Exercises 7 and 8.

7. Complete the diagram.

85%
9
70% 55,
30% 45%
55%

8. What is the combined probability that a student plays hockey?

P(Wockey) = P (summar 4 hockey) + P(wivier 4 hockey )
| = P(Summa')- PU‘DCl“j ]:mmuj 8 P(wmkr) . P([mkgd: [wm{cr)
(1(8) +(3)(-%9)

W\
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